CONSTRUCTION NOTES:

PROJECT SCOPE

N.T.S.

TRAFFIC SIGNALS EQUIPMENT DISPLAY

HARGRAVE STREET

V:\Traffic Signals\7. Projects\Hargrave & York S-1754\Preliminary_Hargrave & York S-1754.dwg

7. , 8.
1. INSTALL CONDUIT, BASES AND PITS AS SHOWN. 8 @ @ 12’ >
2. REBUILD SERVICE AND INSTALL GROUND ROD ON !3 @ @ @ 6
WOOD POLE #10 AS SHOWN. INSTALL MAST AND EB @ \;V/B
DISCONNECT ON SW QUADRANT. INSTALL o @ @
WEATHER HEAD 150mm LOWER THAN THE @
LOWEST HYDRO WIRE. TOTAL LENGTH OF SERVICE @ 9.
CABLE: 65m. 6. @ 1.
3. INSTALL EQUIPMENT AS SHOWN. REMOVE SIGNALS @)
EQUIPMENT FROM JOINT USE POLES #E3 AND HARGRAVE STREET @
#ES. w
ROTATE EXISTING
PROJECT COORDINATION PEDESTRIAN HEAD
1. COORDINATE WORK WITH (CA’s NAME), (204) L
XXX —=XXXX. %
2. COORDINATE HYDRO SERVICE INSTALLATION WITH |-$J
(HYDRO DESIGNER), (204) XXX—XXXX. RE: JUTA <
PERMIT No. BXXXXX
3. TWO WEEKS PRIOR TO CONSTRUCTION, é
COORDINATE REMOVAL OF SIGNALS EQUIPMENT (@)
FROM JOINT USE POLES #E3 AND #E5 WITH >
DARREN TABAK, (204) 360-7521,
dtabak@hydro.mb.ca. w
/ s
PUBLIC LANE
w T.S. TIE LINE (NOT IN USE) & PTz CAMERA /—
- AXIS Q6114—-E -
SERVICE TO DONALD ST., (ARM P%INTING ) )
SEE DWG. S—1388 NORTHEAST @y@@@ NB|[g
JOINT USE PIT
T.S. TIE LINE (NOT IN USE) & HYDRO 9D 7. , WITH HYDRO S.L WE}U«( 2
FROM CARLTON ST., EXISTING 1.5 - ’
SEE DWG. S—1967 PE DUCT (TYP.) 4.75
1. 49 10. = :'/ 4
Wl —~——DUCT TO BE
- ) 11 ABANDONED
=z : o
g—' ,
< g -
X g
% 5 EQUIPMENT DISPLAY LEGEND
> S
»1 lci 1.20 EXISTING PROPOSED (AS SHOWN BELOW)
ES. L i _% PEDESTRIAN HEAD VEHICLE DETECTION TRAFFIC SIGNAL HEAD 12° LOW ARM (SHOWN FROM CENTRE)
N . R WITH PCS AREA © HIGH ARM (SHOWN FROM SIDE)
\ I~ PUSH BUTTON &
3. \\\ 4, \ P e ox PB, DIRECTION @ TRAFFICSIGNALPOLE  (® RED FLASHER ) LUMINAIRE
\l 3
) T.S. TIE LINE (NOT IN USE) & HYDRO 9D TO SMITH ST., N ®
\ it SFF DWo S 1580 ) T et won) DOEB  piateTion D) oo @ creoraona . © cAuERa
1.00 1.50
| I bl - ™ il 8 NO. EQUIPMENT LIST ARM BASE| B.B. | | NO. EQUIPMENT LIST ARM BASE| B.B.
o N 1. 10.
SERVICE:
2. | CANTILEVER 16" | OD | DC SERVICE: FOR S—1388
SERVICE: FOR S—1571
3. |35 SIGNAL FOR CAMERA oD | DD
4,
(TO BE REMOVED)
E3.
6.
"\“‘::7ROADWAY AND SIDEWALK CONSTRUCTION . ES.
o1 | TO BE COMPLETED BY OTHERS (TYP.) 7. | DAVIT 8 BD
8. | DAVIT 12’ AD
TRAFFIC SIGNALS UNDERGROUND LEGEND SIGNAL BASE BOLT SQUARE TYPES
EXISTING PROPOSED (AS SHOWN BELOW) DIA.
ABANDONED DISCONNECTED (LOOPS ONLY) BOLT SQUARE (B.S.)
PLAN VIEW: UNDERGROUND CONSTRUCTION 1 112 PE CONDUIT = POLE BASE © TeE a3 ]
s TYPE "B" - 6 3/4" (’ A
- 1:250 ~ 2" PE CONDUIT —_—r— —_ CONTROLLER BASE TYPE "C" - 8 1/8" SCREW TYPE v o
. 2" ENT CONDUIT T e e PEDESTAL BASE E TYPE "D" - 12 3/4", 1 1/4" DIA. BOLTS, 24" DIA.
AERIAL/BURIED GABLE = —— = TERVINAL BASE IVPE "PD" 13 34" PRECAST. 1 /4 DA BOLTS
CONDUIT STUB — SERVICE BOX (PIT) O TYPE"E" -9 9/16" SCREW TYPE
TYPE "F" - 9 9/16"
BREAK-IN - 24" PRECAST PIT A TYPE "G" - 8 1/8", 1 1/4" DIA. BOLTS, 89mm PROJ.
SPLICE = - 30" PRECAST PIT A TYPE "GS" -8 1/8", 1 1/4" DIA. BOLTS, 76mm PROJ.
TYPE "PG" - 8 1/8", PRECAST, 1 1/4" DIA. BOLTS
36" PRECAST PIT <> TYPE "H" - 9 7/8" SCREW TYPE
SAW-CUT LOOPS W TYPE " - 7 3/4"
REMOVAL TYPE "J" - 10 5/8", 1 1/4" DIA. BOLTS
/ R TYPE "K" - 10 5/8", PRECAST, 1 1/4" DIA. BOLTS
PREFORMED LOOPS % TYPE "L" - 6", 5/8" DIA. BOLTS
TYPE "PM" - 8 1/8", PRECAST, 5/8" DIA. BOLTS
WATERMAN | — 150 WM PROPERTYLINE | — — — — TELEPHONE —TELEPHONE UNDERGROUND STRUCTURES CONSTRUCTION REVISIONS rocomTs FOINEERS SR
HYDRANT & ROADWAY COMMUNICATION COMMUNICATION R.S. WT PENDING (& THE CITY OF WI N |QIPEG
VALVE ® SIDEWALK WOOD POLE oW DESIGNED BY /—\
SEWER __ 300 SEWER CURB & CURB RAMP _r STREET LIGHT oo UNDERGROUND STRUCTURES ID DATE (vvyymmiop) RS ‘ ‘ rinni e PUBLIC WORKS DEPARTMENT
MANHOLE O WARNING TILE B3 BANNER POLE o = PRELIMINARY P g TRANSPORTATION DIVISION
DRAWN BY
CATCH BASIN D SLOPE —rlTl—l_l-l_l—rl_ RAILWAY POLE m LIABILITY DlSCLAlMER NOT'CE
— - WATER & WASTE REVIEW I TS, NeoiATN Ve o oun comveEce e NOT FOR
CURB INLET v CULVERT b - GUY-WIRE — DEPARTMENT, SHALL ASSUME NO RESPONSIBILITY FOR THE CONSTRUCTION ALL DIMENSIONS ARE IN METERS
. . NOTE: INFORMATION AND IT SHOULD NOT BE CONSTRUED AS ASBUILT UNLESS OTHERWISE NOTED
HYDRO — - BULDING 4 FENCE LOCATIONS OF UNDERGROUND STRUCTURES AS SHOWN ARE BASED ON THE BEST creceR ey ::',“J’SSOMSAETS'O%NEE A':FDORS“’LAJL'E'; SBHEOUCER%EE‘)JSEB[; FSOSRVPELCNNT”:E TRAFFIC SIGNALS
wo [ e & ST AL BT 0 SUITE | it A EXTie s St Sl o e S HARGRAVE ST. & YORK AVE.
EXACT LOCATION OF ALL SERVICES MUST BE OBTAINED FROM THE INDIVIDUAL UTILITIES A ISSUED FOR INTERNAL REVIEW WHATSOEVER TO ANY PARTY FOR INJURY, LOSS OR DAMAGES
EXISTING LEGEND PROPOSED EXISTING LEGEND PROPOSED EXISTING LEGEND PROPOSED | serore PROCEEDING WITH CONSTRUCTION DATE SUFFERED BY SUCH PARTY ARISING FROM THEIR USE OF, OR RELIANCE S-1754
' NO. | REVISION (YYYYMMIDD) BY APPROVED BY UPON, THIS INFORMATION.



AutoCAD SHX Text
C

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
375 SEWER

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
SL

AutoCAD SHX Text
HYDRO 16D

AutoCAD SHX Text
HYDRO 8D

AutoCAD SHX Text
SL

AutoCAD SHX Text
TELEPHONE (ABAND.)

AutoCAD SHX Text
375 SEWER 

AutoCAD SHX Text
HYDRO 16D

AutoCAD SHX Text
200 WM

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
200 WM

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
TELEPHONE 8D

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
SL

AutoCAD SHX Text
200 WM

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
HYDRO 8D

AutoCAD SHX Text
300 SEWER 

AutoCAD SHX Text
HYDRO SERVICE BOX

AutoCAD SHX Text
10.

AutoCAD SHX Text
9.

AutoCAD SHX Text
1.

AutoCAD SHX Text
8.

AutoCAD SHX Text
7.

AutoCAD SHX Text
6.

AutoCAD SHX Text
E5.

AutoCAD SHX Text
3.

AutoCAD SHX Text
11.

AutoCAD SHX Text
E3.

AutoCAD SHX Text
T.S. TIE LINE (NOT IN USE) & HYDRO 9D  FROM CARLTON ST., SEE DWG. S-1967

AutoCAD SHX Text
TREE WELL (TYP.)

AutoCAD SHX Text
SL

AutoCAD SHX Text
T.S. TIE LINE (NOT IN USE) & SERVICE TO DONALD ST., SEE DWG. S-1388

AutoCAD SHX Text
T.S. TIE LINE (NOT IN USE) & HYDRO 9D TO SMITH ST., SEE DWG. S-1580

AutoCAD SHX Text
SL

AutoCAD SHX Text
2.

AutoCAD SHX Text
4.

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
JOINT USE PIT WITH HYDRO S.L.

AutoCAD SHX Text
DUCT TO BE ABANDONED

AutoCAD SHX Text
100 GAS (ABAND.)

AutoCAD SHX Text
ONE WAY

AutoCAD SHX Text
ONE WAY

AutoCAD SHX Text
C

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
SB

AutoCAD SHX Text
WB

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
EB

AutoCAD SHX Text
P

AutoCAD SHX Text
SB

AutoCAD SHX Text
NB

AutoCAD SHX Text
12'

AutoCAD SHX Text
8'

AutoCAD SHX Text
8'

AutoCAD SHX Text
16'

AutoCAD SHX Text
9.

AutoCAD SHX Text
1.

AutoCAD SHX Text
8.

AutoCAD SHX Text
7.

AutoCAD SHX Text
6.

AutoCAD SHX Text
3.

AutoCAD SHX Text
10'

AutoCAD SHX Text
35'

AutoCAD SHX Text
P

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
EB

AutoCAD SHX Text
NB

AutoCAD SHX Text
WB

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
2.

AutoCAD SHX Text
ROTATE EXISTING PEDESTRIAN HEAD

AutoCAD SHX Text
(340°)

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
PTZ CAMERA (AXIS Q6114-E) ARM POINTING NORTHEAST

AutoCAD SHX Text
(25°)

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
PB

AutoCAD SHX Text
R

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
EB

AutoCAD SHX Text
C

AutoCAD SHX Text
P

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
B

AutoCAD SHX Text
12'

AutoCAD SHX Text
P

AutoCAD SHX Text
A

AutoCAD SHX Text
DAVIT

AutoCAD SHX Text
1.

AutoCAD SHX Text
8'

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
2.

AutoCAD SHX Text
16'

AutoCAD SHX Text
OD

AutoCAD SHX Text
DC

AutoCAD SHX Text
3.

AutoCAD SHX Text
OD

AutoCAD SHX Text
DD

AutoCAD SHX Text
PLAN VIEW: UNDERGROUND CONSTRUCTION 1:250

AutoCAD SHX Text
HARGRAVE STREET

AutoCAD SHX Text
YORK AVENUE

AutoCAD SHX Text
35' SIGNAL FOR CAMERA

AutoCAD SHX Text
4.

AutoCAD SHX Text
10' SIGNAL

AutoCAD SHX Text
6.

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
DAVIT

AutoCAD SHX Text
7.

AutoCAD SHX Text
B

AutoCAD SHX Text
BD

AutoCAD SHX Text
DAVIT

AutoCAD SHX Text
8.

AutoCAD SHX Text
A

AutoCAD SHX Text
AD

AutoCAD SHX Text
HYDRO MH # 21103-A

AutoCAD SHX Text
9.

AutoCAD SHX Text
10.

AutoCAD SHX Text
11.

AutoCAD SHX Text
332 CABINET/170 CONTROLLER

AutoCAD SHX Text
HYDRO WOOD

AutoCAD SHX Text
8'

AutoCAD SHX Text
12'

AutoCAD SHX Text
SERVICE:

AutoCAD SHX Text
YORK AVENUE

AutoCAD SHX Text
HARGRAVE STREET

AutoCAD SHX Text
PUBLIC LANE

AutoCAD SHX Text
T.S. TIE LINE EAST & WEST

AutoCAD SHX Text
(TO BE REMOVED)

AutoCAD SHX Text
SERVICE: FOR S-1388

AutoCAD SHX Text
45' SL

AutoCAD SHX Text
E3.

AutoCAD SHX Text
E

AutoCAD SHX Text
-

AutoCAD SHX Text
30' SL

AutoCAD SHX Text
E5.

AutoCAD SHX Text
A

AutoCAD SHX Text
-

AutoCAD SHX Text
35' SIGNAL FOR CAMERA

AutoCAD SHX Text
SERVICE: FOR S-1571

AutoCAD SHX Text
CONSTRUCTION NOTES: PROJECT SCOPE 1. INSTALL CONDUIT, BASES AND PITS AS SHOWN. INSTALL CONDUIT, BASES AND PITS AS SHOWN. 2. REBUILD SERVICE AND INSTALL GROUND ROD ON REBUILD SERVICE AND INSTALL GROUND ROD ON WOOD POLE #10 AS SHOWN. INSTALL MAST AND DISCONNECT ON SW QUADRANT. INSTALL WEATHER HEAD 150mm LOWER THAN THE LOWEST HYDRO WIRE. TOTAL LENGTH OF SERVICE CABLE: 65m. 3. INSTALL EQUIPMENT AS SHOWN. REMOVE SIGNALS INSTALL EQUIPMENT AS SHOWN. REMOVE SIGNALS EQUIPMENT FROM JOINT USE POLES #E3 AND #E5. PROJECT COORDINATION 1. COORDINATE WORK WITH (CA's NAME), (204) COORDINATE WORK WITH (CA's NAME), (204) XXX-XXXX. 2. COORDINATE HYDRO SERVICE INSTALLATION WITH COORDINATE HYDRO SERVICE INSTALLATION WITH (HYDRO DESIGNER), (204) XXX-XXXX. RE: JUTA PERMIT No. BXXXXX 3. TWO WEEKS PRIOR TO CONSTRUCTION, TWO WEEKS PRIOR TO CONSTRUCTION, COORDINATE REMOVAL OF SIGNALS EQUIPMENT FROM JOINT USE POLES #E3 AND #E5 WITH DARREN TABAK, (204) 360-7521, dtabak@hydro.mb.ca.

AutoCAD SHX Text
EXISTING 1.5" PE DUCT (TYP.)


	Sheets and Views
	Layout1


